estl : 100pts T .
" Chapters 10 and 11 Seat: : '
Show all your work' Partial credit is based on work shown!

6pts 1
\Xghat kind of graph (a bar graph, a circle graph, or a line graph) would be best suited for each

of the following situations:
Yaa. You want to show turkey production for the three major turkey producing states Bav °Ml\

potas L

j)’ i b. You want to show the proportion of a middle-school’s student populatlon that are 6" graderﬁ\ - f .
' : e 7th graders and 8™ graders. 2.4 f‘(/(x W%L\ S ey

A‘* “ e You want to show the monthly sales for a business over the last two years to determine any

trends. | e ?@é
2pts

2. If aportion of a circle graph is to represent 25%, what will be the measure of the corresponding

central angle? Q0 (&— 252 of 260"
2pts—" ( 52 of 3e0”)
3. For the following heights of children, in centimeters,

118,120, 121,122, 128, 128, 132 134, 140, 142,'.146 155, 160
find the: a. mode ‘2? _ b. mean = ﬁl:’:'—/ c. median = /3L

;Zr
d. lowet quartil d artl
‘o@g_’_ﬂw'(;an erll‘l!gle @L be/wffév‘r) coial':g jk‘(""‘“"f‘&&j{cr

lll i
1"* " # constrict a box and whisker plot using the scale below. 4 @ iX [jers

T — >f’f
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11 T T 1 11 _ s»‘M |

1184120 122 124 126 128 130 132 134 136 138 140 142 144 146 148 150 152 154 156 158 160

f. Make a stem and leaf plot for the he1§h;§, g. Which glves a betteg ar nalys1s:fthe data,
"1{“ <i 3 (’(3 the box and whisker plot or the stem and leaf

< plot? bpux 4 whiske r  Explain: Va ’(ff«? f?{fﬁﬁ
| Is showr gemrtilcs  medi
a._ N N
\ Visual i z5tron of S“M %(
T /»X?
3 o--*’wﬂ{’ i{wwﬁ bl o Lood s Fh o e
5 ’ ‘/I_....-“tt Sten ~(-/¢,,{ Jot- shows Visuelizdriv o
8pts ! G O : RistriloAt o qu is E_Di MWQ)«SIS 7:%
4. A county mathematlcs test-for all third-graders had a normal distribution w1th amean of 74 and a
standard deviation of 11.

13

a. Show a sketch of a normal distribution with b. What percentage of the third-graders
the mean score and other scores, represented - scored between 52 and 967
é( ¢ by the standard deviations, labeled. ' ,2(&
2

c At what percentile is a student who

2pts scored 637 1614._
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5. Describe two ways you could change a bar graph that would distort the overall i 1mpressmn of the
10,3 graph but still use the original data. (Also explain how this change distorts the impression given.)

::2'?"' @ Crutk Jw»;,. Verti cal scole oy foone, o Ley»-vyfu-.sf (o7 no¥ 1&‘°Jawfg)

This epusize thn choge ot Ho o MR bs ke bt poditt
@ Condd switel, amee . This weald ke «Mﬂf‘y fread appeen, o be tncien,
/33 birs — Are lurlor fo rard — hordorto i e top of oo wire, vertiad am;

/0 Aol bmboel 1hat o dichraX vad,, ep e gronk bocllo torend,

.

8pts
6. True/ false quesuons If faIS” correct the statement or explain why 1t is false v //),r Sin e Copr ooty on)

6672 = = SRR §
@1&_ a. If you'T'ﬂ two dlCC and t‘ﬁen flip a coin, there are )8/poss1ble outcomes

~f rwz__b. The words tab and bat are the same combination of letters.
we c. A z-score is the number of standard deviations away from the mean in a normal

distribution.
@ d The e e/z;erlmental probablhty and theoretical probabll ‘a/, of an event are usﬁall)ﬁ%%rﬁe.
‘5"5"&— i 7 oKeo—e — cuk “\f'ﬂsva&mfvit\s ------ »«Mﬁ QM{?{L
WW];MMMMWMW m‘,f X
4pts. MW’MM%&%‘#MW‘OW‘@‘ (Aot
7. Suppose that the odds of a certain bill’s passing through a state senate are 7 to 5,
a. what are the odds of the bill’s not passing? b. what is the probability that the bill will pass?
5:7 1
; 1
pts

8. Suppose an insurance company has broken down yearly automobile claims for drivers from age 16
through 21, as shown in the table below. How much should the company charge as its average
premium in order to break even on its cost for claims? T

Amount of claim : J o =

(nearest $2000) Probab1hty EYWQ v’a/QuQ, v P + V) F ate-eT % fé

0 0.70
$ 2000 0.15 bi\( E O(—z?li lbeo( I5’)+L/aoo(,,io)+éoaac,o3)+ Fooo(.0);
$ 4000 , 0.10 T —— e
' $6000 0.03 ka 2 ‘ Hfoeso (ol
$ 8000 0.01 E-= C>+ oo +%p0 +*180+ %0 4100
_——$10000 0.01 \G’Zr

@, 2= gy, T o

e

9. Jennifer stated that it is best to do a simulation whenever an experiment is very complex or requires
o MY a large number of trials. Do you agree? Vig.s _ Explain:  ~2p% § sedl no calbudde suovelica ppf,

J/‘? { '
Fglé C exgarineX (s corplex e cal ,Me)bcu@: /,4? bv. M@P;V_sﬁ.%)_b
“"'ub;, Ke Inswymm&pqS)Mu"\’l_b [‘efl‘\—»:@_(‘ » Z

CVI%\-C\lwf}ctf—a{'fYﬂJ(cl'Fu-emef% s/m%“fbgsrf—u‘&w&\ :
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" 10. A bag contains 1 red balls, 6 blue balls, and 4 white balls. One ball i is drawn at random and then a
second ball is drawn without replacing the first ball.

a. On the back of the previous page draw a probability tree diagram to illustrate this and list all

b. Find the followmg probabilities:
q - vy, &mwm;] 5’?& U"\-

. A ;N' ¥ o N
/ P (one red ball and one white ball) g’é o %{M’ 4 taty Gree A i et

(R orwﬂ) <J:j€>+— ’LL' .:I/O /\‘#‘;

P (both balls are white)

C(ow)= ¢

,,,,(‘._“‘ }}G}A

U

‘_ P (two balls of the same color) J
~ [,\)(/J. or BG) = _‘f/,/ ( - = .1__32—4—,%—0—\ _ f_z__/
T ’OC ) ) 7 ’f 1l lle A
6pts { 2rtScaels 7

11. Show how the Fundamental Counting Principle can be used to solve this problem:
Telephone numbers consist of ten digits; the area code followed by 7 digits.
a. How many different telephone numbers can there be that have the area code 910?
(Assume the first digit cannotbeaQoral) o @ ¢ jor |5 o for o+« ]2 18 — &4 0‘

Y I M

(57;/‘({&., Cado ) : | . es SOOO/OO ()
b. How many of these phone numbers would begin with 962, following the area code 9107
Lodog . Uofel - dote to: 10 — jot looe o
910 9?6 2

. c. Whatisthe probablhty of getting one of these phone numbers that begin 910-962--.... 2. .. é
i. ..«nm‘""‘"

L LI YA =
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team of six players must be chosen from 5 boys and 4 girls, how many teams can be made if

a. there are no restrictions? > b. there must be 3 boys and 3 girls?

b QIR Y 5 8 Seled g2y ~
C =30 - E\ K 3] ‘““‘?ﬂ”"’— bo-4 =yo
! é ’ é\ X ég‘l?ﬁ}’ ev ‘ ’ ‘ - ‘f "

[ . - i, " e ;:é a ﬂ 3
6pts _ .#‘Pl‘(' SQB o b 3 7 .»i/o’f ,Z ledwd 2 3,
13. Suppose that there are 12 first-class seats on an airplane. How many- different ways are therd®io® 7 3 & 'EY
seat ’
a. 12 passengers‘? b 7passengers‘7
o T\
lQ ”7700/400 ) (/iatllaﬁ 7.6 = 33%/436 §
e A
T ——— . _ 37pts
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